LT4—X& =7 (A-BEI)

A5 R HDCP 0~15
20255 4H4H
JIEAT K4 OUT IN 18H HD NET
1+BG oa g 37 36 73 11 62
2 HE 47 41 37 78 13 65
3 by < 39 41 80 15 65
4 LA ik 40 36 76 10 66
5 e A 41 39 80 13 67
6 [ 56 5%B 39 40 79 12 67
7 HA 5075 36 41 77 10 67
8 RE wrE 41 40 81 13 68
9 A TER 40 36 76 7 69
10 M Fh 40 39 79 10 69
11 HH B 40 43 83 14 69
12 RN I 39 45 84 15 69
13 HH ER 44 41 85 14 71
14 WTH & 39 36 75 4 71
15 BRI 38 38 76 5 71
16 [ R 37 39 76 5 71
17 KHE B 39 42 81 10 71
18 HH 2= 43 43 86 14 72
19 A IESE 41 45 86 13 73
20 EAR B 41 42 83 9 74
21 Fr Hedh 39 37 76 0.4 75. 6
22 LRSS 44 45 89 13 76
23 fHE —hK 44 48 92 14 78
24 RN 47 42 89 10 79
25 T R 47 48 95 15 80
26 PR i 45 44 89 7 82
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LT4—X& =7 (A-BEI)

BHYS5X HDCP 16~40
20255 4H4H
JIEAT K4 OUT IN 18H HD NET
1 =H & 43 42 85 21 64
2 UNEIE = 42 45 87 22 65
3 SRV GTA 46 41 87 21 66
4 ki 43 52 95 27 68
5 B GE 46 43 89 20 69
6 NSNS 48 48 96 27 69
7 %k SR 52 49 101 31 70
8 FRHE IR 50 49 99 29 70
9 HH FET 55 47 102 31 71
10 Ho w 46 48 94 23 71
11 e BE 48 48 96 23 73
12 filigz A58 46 51 97 24 73
13 T 1B 44 51 95 20 75
14 HiH U 52 48 100 24 76
15 IIENNSS 52 41 93 16 77
16 JI1dL BElE 58 52 110 33 77
17 HE 48 50 98 21 77
18 MEFLE (B 46 50 96 18. 4 77.6
19 K H HEH 50 46 96 18 78
20 K —= 49 52 101 22 79
21 A £ R 46 54 100 21 79
22 la E= 51 47 98 18 80
23 KL Gl 51 49 100 19 81
24 ER FR 46 52 98 17 81
25 4N NN EY 51 52 103 21 82
26 & iR 52 49 101 18 83
27 RO B2 63 51 114 27 87
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